
4902 4902.5 4903 4903.5 4904
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5796

5796.5

5797

5797.5

5798

5798.5

5799

5799.5

5800

ru
n

run:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

78−

77.5−

77−

76.5−

76−us
l_

1X
usl_1X:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

1.5−

1−

0.5−

0

0.5

us
l_

4a
Y

usl_4aY:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

86

86.5

87

87.5

88

us
l_

4e
X

usl_4eX:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

20.6

20.8

21

21.2

21.4

21.6

21.8

22

22.2

22.4

22.6

22.8

us
l_

4e
Y

usl_4eY:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

51−

50.5−

50−

49.5−

49−us
l_

12
X

usl_12X:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5796

5796.5

5797

5797.5

5798

5798.5

5799

5799.5

5800

ru
n

run:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

109.4−

109.2−

109−

108.8−

108.6−

108.4−

108.2−

108−

107.8−

107.6−

107.4−

107.2−

us
r_

1X

usr_1X:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

0

0.5

1

1.5

2

us
r_

4a
Y

usr_4aY:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

232.5

233

233.5

234

234.5

us
r_

4e
X

usr_4eX:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

13.6

13.8

us
r_

4e
Y

usr_4eY:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

45−

44.5−

44−

43.5−

43−

us
r_

12
X

usr_12X:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5796

5796.5

5797

5797.5

5798

5798.5

5799

5799.5

5800

ru
n

run:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

11947.5

11948

11948.5

11949

11949.5

us
l_

co
il1

usl_coil1:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

2434

2434.5

2435

2435.5

2436

us
l_

co
il3

usl_coil3:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5568.5

5569

5569.5

5570

5570.5

us
l_

co
il4

usl_coil4:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

456.5

457

457.5

458

458.5

us
l_

co
il6

usl_coil6:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

16873

16873.2

16873.4

16873.6

16873.8

16874

16874.2

16874.4

16874.6

16874.8

16875

16875.2

us
l_

co
il7

usl_coil7:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5796

5796.5

5797

5797.5

5798

5798.5

5799

5799.5

5800

ru
n

run:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

16890.5−

16890−

16889.5−

16889−

16888.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

2854−

2853.5−

2853−

2852.5−

2852−us
r_

co
il3

usr_coil3:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

4651.2

4651.4

4651.6

4651.8

4652

4652.2

4652.4

4652.6

4652.8

4653

4653.2

4653.4

us
r_

co
il4

usr_coil4:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

586.6

586.8

587

587.2

587.4

587.6

587.8

588

588.2

588.4

588.6

588.8

us
r_

co
il6

usr_coil6:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

32304.5

32305

32305.5

32306

32306.5

us
r_

co
il7

usr_coil7:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5796

5796.5

5797

5797.5

5798

5798.5

5799

5799.5

5800

ru
n

run:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

287.4−

287.2−

287−

286.8−

286.6−

286.4−

286.2−

286−

285.8−

285.6−

285.4−

285.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

20.8−

20.6−

20.4−

20.2−

20−

19.8−

19.6−

19.4−

19.2−

19−

18.8−

18.6−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

297

297.2

297.4

297.6

297.8

298

298.2

298.4

298.6

298.8

299

299.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

250.4−

250.2−

250−

249.8−

249.6−

249.4−

249.2−

249−

248.8−

248.6−

248.4−

248.2−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

38−

37.5−

37−

36.5−

36−4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

187

187.2

187.4

187.6

187.8

188

188.2

188.4

188.6

188.8

189

189.2

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

217.5

218

218.5

219

219.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

84

84.5

85

85.5

86

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

6−

5.5−

5−

4.5−

4−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

231.6

231.8

232

232.2

232.4

232.6

232.8

233

233.2

233.4

233.6

233.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

38.6

38.8

39

39.2

39.4

39.6

39.8

40

40.2

40.4

40.6

40.8

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

3.5−

3−

2.5−

2−

1.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5798}



4902 4902.5 4903 4903.5 4904
cyclenum

235.5−

235−

234.5−

234−

233.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

82−

81.5−

81−

80.5−

80−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

0.5−

0

0.5

1

1.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

7

7.5

8

8.5

9

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

472−

471.5−

471−

470.5−

470−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5798}

4902 4902.5 4903 4903.5 4904
cyclenum

5796

5796.5

5797

5797.5

5798

5798.5

5799

5799.5

5800

ru
n

run:cyclenum {run == 5798}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


